thur, where qthree model Ex. the proof Y the G $\int_{0}^{1} 2^{1} \tan^{-1}(x^{2}) dx$ $= \tan^{-1} x$ $\tan^{-1} (x^{2}) dx$ $\tan^{-1} (x^{2}) dx$ $\tan^{-1} (x^{2}) = x^{2} - \frac{x^{7}}{3} + \frac{x^{5}}{5} - \frac{x^{7}}{7} + \frac{x^{6}}{11} = \sum_{n=0}^{\infty} (-1)^{n} \frac{x^{2n+1}}{2n+1} = \sum_{n=0}^{\infty} (-1)^{n} \frac{x^{2n+1}}{2n+1}$ $\tan^{-1} (x^{2}) = x^{2} - (\frac{x^{2}}{3})^{2} + (\frac{x^{2}}{3})^{5} - (\frac{x^{2}}{7})^{7} = x^{2} - \frac{x^{2}}{3} + \frac{x^{10}}{5} - \frac{x^{14}}{7} + \frac{2}{11} = \sum_{n=0}^{\infty} (-1)^{n} \frac{x^{14}}{2n+1}$ $\int_{0}^{1} 4^{1} \tan^{-1} (x^{2}) dx = \int_{0}^{\infty} 2^{\frac{m}{n}} (-1)^{n} \frac{x^{4m+2}}{2n+1} dx = 2^{\frac{m}{n}} (-1)^{n} \int_{0}^{\infty} \frac{x^{4m+2}}{2n+1} dx = 2^{\frac{m}{n}} (-1)^{n} \frac{x^{4m+2}}{2n+1}$ $\int_{0}^{1} 4^{1} \tan^{-1} (x^{2}) dx = \int_{0}^{\infty} 2^{\frac{m}{n}} (-1)^{n} \frac{x^{4m+2}}{2n+1} dx = 2^{\frac{m}{n}} (-1)^{n} \int_{0}^{\infty} \frac{x^{4m+2}}{2n+1} dx = 2^{\frac{m}{n}} (-1)^{n} \frac{x^{4m+2}}{2n+1}$ $= 2^{\frac{m}{n}} (-1)^{n} \frac{1}{2n+1} (\frac{x^{4m+2}}{4m+2}) \Big|_{0}^{1} = 2^{\frac{m}{n}} (-1)^{n} \frac{1}{2m+1} \left[\frac{1}{4m+3} - \frac{0}{4m+3} \right]$ $= \sum_{n=0}^{\infty} (-1)^{n} \frac{2}{2m+1} (\frac{x^{2}}{4m+2}) \Big|_{0}^{1} = 2^{\frac{m}{n}} (-1)^{n} \frac{1}{2m+1} \left[\frac{1}{4m+3} - \frac{0}{4m+3} \right]$ $= \sum_{n=0}^{\infty} (-1)^{n} \frac{2}{2m+1} (\frac{2}{4m+3}) \Big|_{0}^{1} = 2^{\frac{m}{n}} (-1)^{n} \frac{1}{2m+1} \left[\frac{1}{4m+3} - \frac{0}{4m+3} \right]$ $= \sum_{n=0}^{\infty} (-1)^{n} \frac{2}{2m+1} (\frac{2}{4m+3}) \Big|_{0}^{1} = 2^{\frac{m}{n}} (-1)^{n} \frac{1}{2m+1} \left[\frac{1}{4m+3} - \frac{0}{4m+3} \right]$ $= \sum_{n=0}^{\infty} (-1)^{n} \frac{2}{2m+1} (\frac{2}{4m+3}) \Big|_{0}^{1} = 2^{\frac{m}{n}} (-1)^{n} \frac{2}{4m+1} \left[\frac{1}{4m+3} - \frac{0}{4m+3} \right]$ $= \sum_{n=0}^{\infty} (-1)^{n} \frac{2}{2m+1} (\frac{2}{4m+3}) \Big|_{0}^{1} = 2^{\frac{m}{n}} (-1)^{n} \frac{2}{4m+3} \Big|_{0}^{1} + 2^{\frac{m}{n}} (-1)^{\frac{m}{n}} \frac{2}{4m+1} \Big|_{0}^{1} + 2^{\frac{m}{n}} \frac{2}{4m+1} \Big|_{0}^{1} + 2^{\frac{m}{n}} \frac{2}{4m+1} \Big|_{0}^{\frac{m}{n}} \frac{2}{4m+1} \Big|_{0}^{\frac{m}{n}} \frac{2}{4m+1} \Big|_{0}$

we want the error < 10-5

$$\frac{1}{(an+3)(4n+7)} < 10^{-5} =) 2.10^{5} < (an+3)(4n+7) = 8n^{2} + 26n^{2} + 21 \xrightarrow{10^{5}} 2$$

$$\frac{157}{2} \frac{(-1)^{5} 2}{(2n+1)(4n+3)} = .598003$$

Hu Part 4 # 4
$$\frac{1}{2}$$
 5
#s/
 $\lim_{x \to 0} \frac{\tan^{-1}(7x) - 7x\cos(7x) - \frac{343}{6}x^{3}}{x^{5}} = \lim_{x \to 0} \frac{\sum_{x \to 0} x^{3}}{\sum_{x \to 0} x^{5}}$

Expand JUST using summation notation first.
 Pull out the first few terms so that when we divide by x^5, we avoid dividing by zero.

$$\begin{aligned} by x^{5}, we avoid dividing by zero. \\ t_{an}^{-1}(7x) &= 7x - \left(\frac{7x}{3}\right)^{3} + \left(\frac{7x}{5}\right)^{5} - = \sum_{n=0}^{\infty} (-1)^{n} \left(\frac{7x}{an+1}\right)^{2n+1} \\ 7x \cos(7x) &= 7x \left(1 - \left(\frac{7x}{a!}\right)^{3} + \left(\frac{7x}{4!}\right)^{4} - \dots\right) = 7x \cdot \sum_{n=0}^{\infty} (-1)^{n} \left(\frac{7x}{(an)!}\right)^{2n} = \sum_{n=0}^{\infty} (-1)^{n} \cdot \frac{7x}{(an)!} \\ t_{1}^{2n} - 7x \cos(7x) &= \sum_{n=0}^{\infty} (-1)^{n} \left(\frac{7x}{an+1}\right)^{2n+1} - \sum_{n=0}^{\infty} (-1)^{n} \cdot \frac{7x}{(an)!} = \sum_{n=0}^{\infty} (-1)^{n} \frac{7x^{2n+1}}{2n+1} - \frac{7x^{2n+1}}{(an)!} \\ t_{2n}^{2n} - 7x \cos(7x) &= \sum_{n=0}^{\infty} (-1)^{n} \left(\frac{7x}{an+1}\right)^{2n+1} - \sum_{n=0}^{\infty} (-1)^{n} \cdot \frac{7x^{2n+1}}{(an)!} = \sum_{n=0}^{\infty} (-1)^{n} \frac{7x^{2n+1}}{2n+1} - \frac{7x^{2n+1}}{(an)!} \\ = \sum_{n=0}^{\infty} (-1)^{n} \left(\frac{7x}{an+1}\right)^{3} \cdot \left(\frac{1}{3} - \frac{1}{a}\right) \\ -7x \left(\frac{1}{a(a+0+1)} - \frac{1}{b_{1}}\right) \\ (-1)(7x)^{3} \cdot \left(\frac{1}{3} - \frac{1}{a}\right) \\ -7x^{3} x^{3} \left(-\frac{1}{6}\right) = 7^{3} x^{2} \\ n = 0 \\ n = 1 \\ n = 2 \\ n$$

X=0-